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( 1)log logmt mt m tR P P -= -                 (3.5) 
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 3.2.2  (Unit Root Test) 
  1.  (Unit Root)  
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 3.2.3 (Cointegration Test) 

    1.  (Cointegration)  
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                   2.  (Cointegration)  
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 3.2.4  (Error Correction Mechanism) 
                  

 
Error Correction 

Mechanism (ECM)   Error 

Correction Mechanism (short-term dynamic) 

 
 

    1. Error Correction Model (ECM)   
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 2. Error Correction Model (ECM)   
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Error Correction Mechanism  
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 3.   

                   Akaike Information Criterion 

(AIC)  Schwatz Criterion (SC) 

AIC SIC  
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1. a  

                  a

t-test 

 

  0 : 0H a =   ( ) 

  1 : 0H a ¸   ( ) 

 

2.  b  

      
( itR ) ( jtR ) 

( mtR ) t-test  

  0 : 0H b =      (

) 

  1 : 0H b ¸      (

) 
   2R 2R

 (i)  (j) ( mtR ) 
( mtRI ) 
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